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MANAGEMENT 

PAPER – III 
 

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All 
questions are compulsory. 

 

1. A decrease in supply will have the greatest effect on price, when the product’s demand is  

 (A) Elastic (B) Inelastic 

 (C) Perfectly elastic (D) Unitary elastic 

 

2. For a production firm, the pecuniary economies arise from which one of the following 

sources ? 

 (A) Large scale production 

 (B) Purchasing and market economies  

 (C) Indivisibility of factor inputs 

 (D) Learning economies of workers and managers 

 

3. Your firm is selling 1,000 units at a price of � 10 per unit. The firm’s total explicit cost is 

� 8,000. The firm’s implicit cost is � 1,000 and the opportunity cost of your time in 

managing the firm is � 1,000. In the above situation, which one of the following is true ? 

 (A) Accounting profit is 0. 

 (B) Economic profit is less than the accounting profit  

 (C) Marginal cost is � 1,000 

 (D) Economic profit is � 1,000 

 

4. Which one of the following is the correct expression for the Fisher equation, where  

 n = the annual nominal interest rate  

 r = the annual real interest rate  

 P = the expected annual inflation rate  

 (A) (1 + n) = (1 + r) (1 + P) (B) (1 + r) = (1 + P) (1 + n) 

 (C) (1 + P) = (1 + n) (1 + r) (D) (1 – r)2 = (1 + P) (1 + n) 

 

5. Which of the following best describes the financial crisis of 2008 ? 

 (A) Liberal availability of mortgages 

 (B) Poor standard of lending to buy houses. 

 (C) An increase in asymmetric information, severe adverse selection and moral hazards 

in financial markets. 

 (D) All of the above. 
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����
�	� : ������������	��
������������� (75) 
����-�������������������������������������������������� (2) ���������������������������������������� 
 

1. ��
�� ����!������
��"#�����
������$��������#��%����������&'���
�����
����������
������(����)�����
�����*�������+,��#���- 

 (A) ����.�!��(�� (B) 
������.�!��(�� 

 (C) ��&/����0��������.�!��(��� (D) �����������.�!��(�� 

 

2. ������� ����!����1�
����������2%�)������

��)����
������������2"����
������$����
�������������3���������� �������������������4 

 (A) 
�+,������
���������� ����!����

 (B) $�(��!��2����
�����(���
������������2"�� 

 (C) ���(������#������5������60���7���������*����������

 (D) ��
�����(������8������
��)������������)�#�
���
������������2" 

 

3. ��������1�
������������������ 10��������
������(��1,000���������"�
��.��(�����������1�
����������������9������#����� 8,000�����
������1�
�����������9������#����� 1,000����%����(��1�
����������
��)����(�������������������
�������������(�����#����� 1,000�����
������ ������9�����8�����
������
������$����
����������������������������4 

 (A) ���$����(�/�����*����&�����������

 (B) ��'8�������*�����$����(�/�����*��������
��������� 

 (C) ���
���������#����� 1,000���������

 (D) ��'8�������*��� 1,000������� 

 

4. �1���(����
����(�/��������������*�����9������
������$����
����������������������4�

� �����"�� n = ���':�������
�
���	����
������!�(���������

� � r = ���':����������������
������!�(���������

� � P = ����������������':����
��;���1������!�(���������

 (A) (1 + n) = (1 + r) (1 + P) (B) (1 + r) = (1 + P) (1 + n)  

 (C) (1 + P) = (1 + n) (1 + r)  (D) (1 – r)2 = (1 + P) (1 + n) 

 

5. ��:���<==>��������?����������6������ ?�
����/��������
������$����
�������9��������4 

 (A) 
��)���@��	������ !��(�� ����
)�����

 (B) #�A���$�(��!������������2� )��(��!����������B��6�����
�������� 

 (C) ���?�����
�����(����
������
��
������&.�����������A�C�%���+,����������&����.���������(�����������$���(�����

 (D)  ������9�����*��� 
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6. In _________ grapevine, a person transmits the information to a few selected people and 

some of them pass it on to select others. 

 (A) Cluster (B) Gossip 

 (C) Probability (D) ‘Single-strand chain’ 

 

7. Match the items of List – I with those of List – II : 

List – I List – II 

i. The extent to which other people 
behave in the same manner as the 
person being judged 

a. Consensus  

ii. The extent to which the person being 
judged acts the same way at other 
times. 

b. Consistency 

iii. The extent to which a person behaves 
in the same manner in any other 
context 

c. Distinctiveness 

iv. The tendency to think about 
something when we try intentionally 
not to think about it 

d. Rebound effect 

 Codes : 

  i ii iii iv 

 (A) a b c d 

 (B) d c b a 

 (C) d a c b 

 (D) d b c a�
 
8. Match the items of List – I with those of List – II : 

List – I List – II 

a. The tendency to draw a general impression about an 
individual on the basis of a single characteristic. 

i. Golem effect 

b. A belief that all members of specific groups share 
similar traits and are prone to behave the same way. 

ii. Halo effect 

c. A form of self-fulfilling prophecy in which believing 
something can make it come true. 

iii. Pygmalion effect 

d. An instance of self-fulfilling prophecy in which 
people holding low expectations of another tend to 
lower that individual’s performance. 

iv. Stereotype 

 Codes : 

  a b c d 

 (A) i ii iii iv 

 (B) ii i iii iv 

 (C) ii i iv iii 

 (D) ii iv iii i 
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6. DDDDDDDD���#��(��������
�����
��.��(��!������������������������9������EF�.�������������#�����������&.�����!�������������(�� ��
����������EF�
����#��.���������2�����#�����������&.�����!������������ 

 (A) #��.EF�5��
�&��7 (B) #���@����� 

 (C) ���*��������� (D) ‘G��#���@�6H���+�@.����’ 

 

7. ��&.���– I�
���
�!�����������&.���– II�
���
�!�����������8�����
��������������2�-�

� ��������� � ����������

i. ����#�����������
�������� ����I��#��������������(����(����������������������
������9��������
��
�J������������

a. ���
���������

ii. ��
������9�����������������
�J���������������������������������(���������
������(������������ b. ���#�������

iii. ����9������������
��������!&���(������!�*��K�
���*��� ������(����������������(����(����������� c. ������:6������

iv. �������
���������
��(���
�������.��������������A�?����
������� ������
��(���
�������.���������L�
.���������������

d. ��������M�����
���*������

� ����������

  i ii iii iv 

 (A) a b c d 

 (B) d c b a 

 (C) d a c b 

 (D) d b c a�

 

8. ��&.���– I�
���
�!�����������&.���– II�����
�!�����������8�����
��������������2��-�

� ��������� � ����������

a. 2�����������:�����������)��(����(������9�������
��(���
������
������(�����
�����������������A�?�� i. #�����
�����*������

b. ���� )��(�/��� ���� ������:N�� ��
�&����� ���� ��*��� ��!������� ���� 2����
����� #��/�� ������:����2"�
���������������(�������2����
�������������(����(�������#������������

ii. �����������*������

c. ���@���(���&/��� *����:�����/��� ���� 2��� ������(�� �����"�  ��� ��(�� ���������� ��(����� ���� �����
��������������������������

iii. ���#�
���������
���*������

d. ���@���(���&/���*����:�����/�������2��� !����(�/�������
���!&���(�������9�������
��(���
������
���
�����������(�$������������ ����#�� �������9����������:�����������������
�����(�������#������������

iv. OPI,��
�C��

� ����������

  a b c d 

 (A) i ii iii iv 

 (B) ii i iii iv 

 (C) ii i iv iii 

 (D) ii iv iii i�
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9. Which stage of the conflict process entails ‘Perceived conflict’ and ‘Felt conflict’ ? 

 (A) Cognition and personalisation (B) Intensions 

 (C) Behaviour (D) Outcomes 

 

10. Sensitivity training, an important OD technique, is also known as  

 (A) Core group training  

 (B) T-groups 

 (C) X-group training 

 (D) Y-group trainings 

 

11. Indicate the correct statement / statements from among the ones given below : 

 (i) The burden of proof of misconduct lies on the defendant. 

 (ii) The chargesheeted worker is entitled to examine the evidence of management. 

 (iii) For a grave misconduct, an employee can be punished twice. 

 (iv) The chargesheeted worker has a right to present such witnesses one whom he/she 

has faith. 

 Codes : 

 (A) (i) and (iii) are correct (B) (i) and (iv) are correct 

 (C) (ii) and (iii) are correct (D) (ii) and (iv) are correct 

 

12. Which of the following is not an effective source of recruitment for a middle-level 

managerial position ? 

 (A) Company website (B) In-campus interview 

 (C) ‘Head hunters’ (D) Newspapers 

 

13. Which of the following is not a responsibility of the mentor ? 

 (A) Enabling promotion 

 (B) Enabling skill development 

 (C) Building confidence 

 (D) Being a role model for the Mentee 

 

14. Which of the following is not an individual method of performance appraisal ? 

 (A) 360-degree appraisal 

 (B) Management By Objective (MBO) 

 (C) Behaviourally Anchored Rating Scale (BARS) 

 (D) Checklist method 
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9. ���B�:��������M������������������������8���
���‘��(�����+�����B�:��’���8���‘1���6�����B�:��’�����������
�����������4 

 (A) ���Q�������8���������9����(�/� (B) �(��!��� 

 (C) ��������(�� (D) 1�������8�� 

 

10. ������!������������������R�/�%���������S+��S�����
���?����&/����������������%���������
������
������*���������������������- 

 (A) �*�����(����
�&���������R�/� (B) T-��
�&��� 

 (C) X-��
�&���������R�/�� (D) Y-��
�&���������R�/� 

 

11. ���.����!�2���8������
���������������8����
�����2�-�

 (i) !��(��.�(�/���������
��/������*��(�����������!�����(�����������������

 (ii) ��(�����������
�����(����������
��)�����������R����������".�������������������������� 

 (iii) ���#�����!��(��.��(���������2���
��.��(��������!����
��(��!�/+���!�������������������������

 (iv) ��(�����������
�����(�������2�����#����������������R�����������������(�����������)����(��������������(�� ���������������������

� �������� 

 (A) 5T7����(��5TTT7������������� (B) 5T7����(��5TU7������������ 

 (C) 5TT7����(��5TTT7������������ (D) 5TT7����(��5TU7������������ 

 

12. 
�)��
�����(���������
��)���������!������*���V��������2����
������$����
����������*����������3����������L����4� 

 (A) ��
���������
������6�� (B) ���@���
��������R������(�� 

 (C) ‘���+�����60�(���’ (D) ��
��.��(���	�� 

 

13. ���
������$����
���������������������

��!��(�������������������������L�����4 

 (A) ��!�������������������
�8���
���������

 (B) ���������������������������
�8���
��������� 

 (C) �����������������
���/����

 (D) 
��6���5���������������������7��������2�(��W���
��W+����������� 

 

14. ���
���
����������������������9��#�������:���!����
�&������������������)������L�����4 

 (A) XY=��+�#����
�&���������� (B)  Z�������
�������
��)����� 

 (C) ����������(������8�(����[��/�����)���(�/��
������� (D) ���".�@��&.�������)�� 
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15. Choose the correct statements : 

 (a) Job-evaluation is used to determine compensation 

 (b) Job-induction is not a type of training 

 (c) Job-enrichment is referred to as vertical job loading 

 (d) Job-enlargement is referred to as vertical job loading 

 (A) (a) and (d) are true. (B) (b) and (d) are true. 

 (C) (c) and (a) are true. (D) (c) and (d) are true. 

 

16. Which of the following is an example of ‘Meta-Competency’ ? 

 (A) Empowering the employees 

 (B) Managing work performance 

 (C) Leading others 

 (D) Fostering Diversity 

 

17. The Constitution of India provides for Worker’s Participation in Management under 

which article ? 

 (A) Article 38 (B) Article 43 

 (C) Article 39 (D) Article 47 

 

18. Which of the following is a career path pursued by employees who seek variety and 

independence and may not be designed by the organization ? 

 (A) Expert career path (B) Network career path 

 (C) Transitory career path (D) Spiral career path 

 

19. Match the industry/profession with the pay plan most appropriate for it : 

          List – I       List – II 

a. Process-Basel Manufacturing i. Skill-based pay 

b. Automobile ii. Fixed pay 

c. University Teaching iii. Individual-based pay 

d. Software Development iv. Job-based pay 

 Codes : 

  a b c d 

 (A) iii iv ii i 

 (B) ii i iv iii 

 (C) iv iii ii i 

 (D) i ii iii iv 
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15. ��������8����������.������������2�- 

 (a) �������
�&���������������������#�������������)���(�/��
������������������������

 (b) �����������(�/��������R�/������*��#������L�������� 

 (c) ���������
�A�C���(�/�������\�)����)�(�������������G+�#��*������������������������

 (d) ���������A�C�������\�)����)�(�������������G+�#��*���������������������� 

 (A) 5]7���8���5^7������������ (B) 5_7���8���5^7������������ 

 (C) 5`7���8���5]7�������������� (D) 5`7���8���5^7������������� 

 

16. ���
������$����
�������‘��)�@������/����’�5
��6��@���W�
��6�����7����� !����(�/�����������������4 

 (A) ��
��.���(����������������9����(�/� (B) ������@���:����������������
��)���� 

 (C) !&���(�������������A����� (D) ������)����������
�I,������!������ 

 

17. *��(��������������)���������������.E�F!����������#��������
��)����
������
�#��(������������*���#���������������8�����(���������4 

 (A) ����.E�F!��X> (B) ����.E�F!��aX� 

 (C) ����.E�F!��Xb� (D) ����.E�F!��ac 

 

18. �������
��� ������)�����2��
�0�������	�����.�������������������#��5��
��.��(��7����������������(���(����8����������������4����������(���(����8�������
����������������8���d��(����+������+������������ 

 (A) ������:�Q������(���(����8�� (B) ���6�����������(���(����8�� 

 (C) �����������������(���(����8��� (D) B��
����!��(���8��������.�!��(����8�� 

 

19.  e��#��f������������������������)���� �����9����������������������������8�����
����������(���-�

� ��������� � ����������

a. �����M�������)���(����������
���/�� i. �����������)���(�������������

b. ��W6���
���
������� ii. ��8�(�����������

c. ���������e�������)��������� iii. ����9�����)���(�������������

d. ���W1�6������(����������� iv. ������@��)���(�������������

� ����������

  a b c d 

 (A) iii iv ii i 

 (B) ii i iv iii 

 (C) iv iii ii i 

 (D) i ii iii iv�
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20. An act that provides for certain benefits to employees in case of sickness, maternity and 

employment injury is 

 (A) The Employer Liability Act, 1938 

 (B) The Employees’ Compensation Act, 1923 

 (C) The Payment of Wages Act, 1948 

 (D) The Employees’ State Insurance Act, 1948 

 

21. Strikes conducted by workers or employees without the authority and consent of unions is 

called  

 (A) Picketing (B) Economic strike 

 (C) Wildcat strikes (D) General strikes 

 

22. Consider the following statements regarding bonds and examine which is/are correct 

statement/s. 

 Statement I : Current yield of bond is equal to annual interest divided by prevalent 

value of bond. 

 Statement II : Zero-coupon bonds are issued at premium and redeemed at par. 

 Statement III : The present value of the bond is the total of the discounted value of 

annual interest payments and the discounted value of maturity value. 

 Select the correct code : 

 (A) Only Statement I is correct. (B) Statements I and II are correct. 

 (C) Statements I and III are correct. (D) Statement II and III are correct. 

 

23. The problem of conflict in ranking between NPV and IRR, arising on account of 

difference in the pattern of cash flows with reference to time can be resolved by 

 (A) Modified NPV only  (B) Modified IRR only 

 (C) (A) and (B) both (D) Decision tree 

 

24. Assertion (A) : According to the traditional view of capital structure a firm has an 

optimal capital structure that occurs when WACC is minimum. 

 Reason (R) : This approach clearly implies that WACC decreases only within the 

reasonable limit of financial leverage (D/E) and reaching to the 

minimum level, it starts increasing with financial leverage (D/E). 

 Select the correct code : 

 (A) (A) and (R) both are correct. 

 (B) (A) is correct but (R) is incorrect. 

 (C) (R) is correct but (A) is incorrect. 

 (D) (A) and (R) both are incorrect. 
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20. ��
��.���(�����������(���#�#��������%������&������8������
������!���(�����������R�����������8�����
������EF���������*��������������8�����(������������
��)������
��
�����2�� 

 (A) �������9����!�����������)������
�%�gbX>�

 (B) ��
��.��(���
������������)������
�%�gb<X� 

 (C) 
���,!&�(���*��#���������)������
�%�gba>��

 (D) ��
��.��(���(������
��
�����)������
�%�gba> 
 

21. ���B�������������)����(�����(������
���������
�#��(��
���,!&�(������8�����
��.���(������d��(�������#������+,�������9�������������������4 

 (A) )�(�����

 (B) ��'8������+,�������� 

 (C) ���#������
���������������+,�������5�����+�����6����+,������7��

 (D) ���
��������+,������� 
 

22. 
��W/+������
��)���	����������

���)�������
������$������8��������(�� ���.��(��������2����(����(��R�/��������2������������������8�������������
����4�

� �������–������ 
��W/+�����������
��������
)��
��W/+���������.�������
�&����d��(������*�����������':����
����������
�(��
�(����������

� �������–������� ��&�����&������
��W/+����)�
�&������(����,�(������2���������������(����
�
�&������(������)�������E�F+,��2����������������
� �������–��������
��W/+�����������
�����
�&���%����':����
������*��#������������� 
�h��#����
�&�������(�� ���(���9������
�&�������� 
�60�6��#����


�&������������#��������
� ����������+������.������������2�-��

 (A) ����������8����I������������� (B) ����������8����I����(��II�������������� 

 (C) ����������8����I����(��III������������� (D) ��8����II����(��III������������� 
 

23. ��
�����������!�*���
�������!������������������6�����
����*���������������(�/�� �������2��S���S���S����(������S��(�S��(�S�����
��.��[��/����(�/��

������(���)��������
�������������
�������d��(�����
��)����������������������������- 

 (A) ����������������)����2��S���S���S� (B) ����������������)��������S��(�S��(�S�� 

 (C) (A) ���(��(B) !��������� (D) ���/�������AR� 
 

24. ����������� !"������&"�������(�.������������(�
���(����i��:6�����/�������������(�%�1�
��������:6���
����&"�������(�.�������
����������������
��
+�
���%2S���S���S����&����
����������

� #��$�� %"����  ���#�
�� ���� ���:6�� OP��� ���� ��*�������� ���� ���� +�
���&%2S���S���S� �������� ���?�����  ?�������� 5+��f�7� ����
����9�����9������
���������!�(��B�6������������(�����&����
�����(�����������"�.�������(�%��������?����� ?��������5+��f�7�����
���8��
�I,������������

� ����������+������.������������2�� 

 (A) (A) ���(��(R) !���������������������

 (B) (A) ���������%���(������(R)�#������������� 

 (C) (R) ���������%���(������(A)�#��������������

 (D) (A) ���(��(R)�!��������#������������ 
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25. Match the types of factoring given in List – I with its characteristics given in List – II : 

          List – I List – II 

i. Full-service non-recourse 
factoring 

a. Clients are not informed about the 
factoring arrangement 

ii. Full-service resource factoring b. Bad-debt protection to client 

iii. Bulk factoring c. No bad-debt protection to client 

iv. Non-notification factoring d. Client continues to administer 
credit and to operate sales ledger 

 Codes : 

  i ii iii iv 

 (A) a b c d 

 (B) b c d a 

 (C) c d a b 

 (D) d a b c�
 

26. In order to escape a hostile take-over, the management of a company makes an offer to a 
friendly company for acquisition. This defensive technique is known as  

 (A) Crown jewels (B) White knight 

 (C) Green mail (D) Golden parachutes 

 

27. The variance of rates of return of assets or securities using historical returns can be 
derived as  

 (A) 
1

n – 1
 �
t = 1

n

. (Rt – 
–
R)2 (B) 

1

n – 1
 �
t = 1

n

. (Rt – 
–
R) 

 (C) 

�
t = 1

n

. (Rt – 
–
R)2

n – 1
   (D) 

1

n – 1
 �
t = 1

n

. (Rt
2 – 

–
R2) 

 where R indicates the rate of return of respective year (t), out of total period of holding (n) 

and 
–
R is the average rate of return. 

 

28. Consider the following statements regarding the assumptions of Capital Asset Pricing 
Model : 

 I. All investors have the same expectations about expected returns and risks of 
securities. 

 II. Lending and borrowing rates of all investors are different. 

 III. Investors expect highest returns for highest level of risk. 

 IV. Share prices reflect all available information. 

 V. Individual investors are not able to affect the prices of securities. 

 Select the correct code : 

 (A) I and II only (B) I, II and III only 

 (C) I, III and V only (D) I, IV and V only 
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25. ��&.���– I�
���1��96�(�L#������������(�����������&.���– II�
���!���������:���������������8�����
��������������2�-�
� ��������� � ����������
i. 1�������'��������W��@�(���������1��96�G(�#��� a. 
�����9����� ����� 1��96�(�L#�� ���� ������8��� ���� 
��(��� 
���

��&�.��������L����������������������
ii. 1�������'������(���������1��96�G(�#��� b. 
�����9����������+&�
�����j�/���������(�R�/���
iii. 
�����1��96�(�L#��� c. 
�����9����������+&�
�����j�/����������������(�R�/������L��
iv. #��(����)���&�.����1��96�(�L#�� d. 
�����9�����j�/������ ���#�(��������(����� ��8��� �
��M��� 
�����

���.����������(�������,�(���(�$������������
� ����������
  i ii iii iv 
 (A) a b c d 
 (B) b c d a 
 (C) c d a b 
 (D) d a b c�
 

26. ��
������������	�������&/������������)����(��
������2������������
�.������������2� ���������
��)�����
�	����
�������������)�#����/����(���������
���2�������������������(���������������(�R���
��������������9�������������������4 

 (A) �M�� ������������ (B) �����6������6��� 

 (C) #������
������ (D) ���'/�
�����(����&6� 
 

27. �������������������1������5�(�6����0��7������ ������#����(���������������(���
���?����������������*�&������������������1��������!�(�����������(�/�����
���
OP���������������������������������- 

 (A) 
1

n – 1
 �
t = 1

n

. (Rt – 
–
R)2 (B) 

1

n – 1
 �
t = 1

n

. (Rt – 
–
R) 

 (C) 

�
t = 1

n

. (Rt – 
–
R)2

n – 1
   (D) 

1

n – 1
 �
t = 1

n

. (Rt
2 – 

–
R2) 

� �����"�R�)��(����(n)���������������)��
�������������@���������:���(t)����� ������1��������!�(��
�����������%����(�� –
R�������1��������

��������!�(�������� 
 

28. ��&"���#��������������
�������)���(�/��
��W+��������
������������������

���)�������
������$������8��������(�����.��(��������2�-�

 I. �������������������1��������8���������*�&�����������������$�
������
��(���
�����*��������������������2����
���������������2"��������

 II. ��*�������������������� )��(��!��������8��� )��(�������������!�(����*������������ 

 III. ����������� ..���
�����(�����������$�
���������2� ..���
��������1���������������������(������������

 IV. ��������
�������
����� ����
)����&.����������6����(�����������

 V. ������9����������������������*�&���������������
��������������*������������L���(���������������
� ����������+������.������������2�- 

 (A) ��������I����(��II� (B) ��������I, II����(��III 

 (C) ��������I, III����(��V (D) ��������I, IV����(��V 
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29. The firm’s average rate of return is 15%, its cost of capital is 10% and earnings per share 

is � 10. If the pay-out ratio is 40%, 60% and 90%, the value of share according to 

Gordon’s model will be  

 (A) � 105, � 100 and � 90, respectively 

 (B) � 130, � 120 and � 105, respectively 

 (C) � 400, � 150 and � 105.88, respectively 

 (D) � 440, � 160 and � 120, respectively 

 

30. When a firm uses more short-term financing, than that required to finance, the temporary 

or variable current assets, the firm is said to follow : 

 (A) a conservative approach of financing 

 (B) an aggressive approach of financing 

 (C) a matching approach of financing 

 (D) a moderate approach of financing 

 

31. When the total of both the sides of balance sheet is converted to 100 and each item is 

shown as percentage of the total, and this exercise is carried out for more than two years, 

this analysis is known as  

 (A) Index Analysis (B) Trend Analysis 

 (C) Du Pont Analysis (D) Common-size Analysis 

 

32. If the company has acquired three months’ option to buy 3000 barrels of oil, at an exercise 

price of $ 50 and if the premium is $ 0.60 per barrel and it at the time of option expiry oil 

price is $ 52 per barrel, the net pay-off to the company will be  

 (A) $ 1800 (B) $ 4200 

 (C) $ 6000 (D) $ 7800 

 

33. Consider the following statements : 

 1. The ultimate level of market segmentation leads to “one-to-one” marketing. 

 2. Any attempt to target marketing to children or minorities is discriminatory and 

unethical. 

 3. The internet as a medium of adverting has high selectivity and cost. 

 4. A ‘Push’ strategy is better suited for directing the marketing effort towards final 

consumers. 

 Indicate the correct answer : 

 (A) Statements 1 and 4 are true and others are not. 

 (B) Statements 1 and 2 are true and others are not. 

 (C) Statement 1 is true and other are not. 

 (D) All Statements are false. 
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29. 1�
��� ������������ !�(�� ���� ������1����15%� ���%�  ������ ��&"���� ���� ���#����10%����(�� ������� �����(�������� 10� ���� �� ���!����������������
‘���@��\�6�’�����������40%, 60%����(��90%����%������‘#��W+�����
��W+���’������������(�������(������
�&����9��������#���4 

 (A) �M�
���- � 105k�� 100����(��� 90 

 (B) �M�
���- � 130k�� 120����(��� 105 

 (C) �M�
���- � 400k�� 150����(��� 105.88��

 (D) �M�
���- � 440k�� 160����(��� 120 

 

30. ��
��2���1�
�����8�������8����� ���(�����V�.����&� ���(���
���?����������� ���?������:������(��������� ���2� ����������������������� ������
����!�������������������?�����:�/������ ������#����(��������%������1�
������
�����������#�
������(���������- 

 (A) ���?�����:�/������OP�I,����!���i��:6�����/� (B) ���?�����:�/���������M��
����i��:6�����/��

 (C) ���?�����:�/������
��������i��:6�����/� (D) ���?�����:�/���������
������i��:6�����/��

 

31. ��
�����������	������!�������������������������#��100�
������(���'�������(���!�������������������(������������
�!��������������������������������OP���

����!�$��������������������(��2�����!������������!�����:��K��������2������������������%�����������������:�/����������������� 

 (A) ��&.���������������:�/� (B) �����A�?���������:�/�� 

 (C) ‘+�l&������/6�’��������:�/�� (D) ���������
�����������(���������:�/� 

 

32. ���!����
����������������X===������� $ 50���������!������
������(��$�(��!������������2�������
����������������������'�������(���������
���(�����!����)�
�&������������������$ 0.60��������(�����!�����������������
���������(���������������
������������������$ 52����%������
��
�������������������������W1�����������������������#���4 

 (A) $ 1800 (B) $ 4200  

 (C) $ 6000  (D) $ 7800 

 

33. ���
������$������8��������(�����.��(����(���-�

� gS� 
�����(�����$��+����(�/�����������
�����(��2����������8��2�������������/�����������(���#����(����(������������

� <S� 
�..���������������$�����������������/����������R���
�������������������*���������������*��!��������(�������������������

� XS� ���Q�����������
��)��
������OP���
�����6�(����6������ ..��.�������
����������(�����#�������������������

� aS� �����
�� ��*���9��������������(�������/��������������������(������������2�‘)�9���’�5�����7�(�/��������
������(�� �����9����������

� ������ ?�(��
�����2�- 

 (A) ��8����g����(��a��������������(�����������L��

 (B) ��8����g����(��<��������������(�����������L 

 (C) ��8����g��������������(�����������L���

 (D) ��*�����8����������������� 
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34. Producers of convenience goods typically prefer 

 (A) Exclusive distribution (B) Intensive distribution 

 (C) Selective distribution (D) Intermittent distribution 

 

35. A market penetration pricing strategy is suitable when 

 (A) lower price encourages actual competition. 

 (B) the demand of the product is inelastic. 

 (C) the production and distribution costs fall with increasing production. 

 (D) a high price discourages competitors from entering the market. 

 

36. Which one of the following is not included in the distribution logistics ? 

 (A) Order processing (B) Inventory 

 (C) Warehousing (D) Wholesaler 

 

37. According to the ‘two-step flow’ concept, messages should be targeted to  

 (A) opinion leaders (B) the mass audience 

 (C) the upper class (D) unsegmented audience 

 

38. 1. The last stage in the personal-selling process is ‘closing the sale’. 

 2. In India, companies spend much less on post-testing than on pre-testing of 

advertising. 

 3. Market targeting is currently the most popular marketing approves. 

 4. According to RL Stevensen, everybody lives by selling something. 

 The true statements are   

 (A) All of the above  (B) None of the above 

 (C) Only 2 and 3 (D) only 2, 3 and 4 

 

39. The attempt to build and/or maintain a good “corporate image” is referred to as  

 (A) Advertising (B) Public Relations 

 (C) Personal selling (D) Sales promotion 

 

40. The most significant advantage in the use of newspaper as an advertising medium is   

 (A) Audience selectivity (B) Flexibility  

 (C) High attention (D) National market coverage 
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34. ������)����������������� ����!����������-����
���������(�����������(�/��������8�������������!����(���������- 

 (A) ������������(�/� (B) ��B���������(�/�� 

 (C) .��������������(�/�� (D) ����(����(�������(�/� 

 

35. 
�����(�����)�������
�������)���(�/��(�/�������� �����9�����������������
�� 

 (A) ���
������
�������������������������)�����������������������!������

 (B)  ����!������
��"#��
������.�!��(��������� 

 (C)  ����!������8��������(�/�����#�����
�I,����� ����!�����������8���#�(�������������

 (D)  ..�����
���������������#�����������
�����(��
��������������(���������������������������(����������� 

 

36. ���
������$����
�����������������������(�/�����*��(�@���	��5���W�����6�9��7�
�����
�����:6������L�����4 

 (A) ��!���������M���/� (B) ������6�(���5
������&.��7� 

 (C) 
�����#���!��
��������8��� (D) 8����������M������ 

 

37. ‘!���@������������������’�)��(�/��������������(�����!���������������
����������R�����(�����.�����2�- 

 (A) ����
�����������*������ (B) �����[������� 

 (C)  ..����#��� (D) ����*�9���[������� 

 

38. gS� ������9���������M���������M�����
��������
������8����
��M���������
��������������

� <S� *��(����
��%���
��������"����Q����������� ?�(�@��(��R�/����(�������(�����1�����
����������(���������
���������&���@��(��R�/����(�������(�����

� XS� 
�����(����R�����(�/�������
�������
����
����������)����������������������/���� ���#�
���������

� aS� ��(�S2��S��6�����������������������(�%���������������9������EF�������EF�
��.���(������������������������(������������

� ��������8�������������������4 

 (A)  ������9�����*��������������� (B)  ������9���
������������������L���� 

 (C) ��������<����(��X�� (D) ��������<%�X����(��a 

 

39. ����������W(�����(��6�����������������2����.EF��EF����
������������
��������(�$�������������������������������������������������������������������� 

 (A) ���Q������ (B) ������
������ 

 (C) ����9��#��������M����� (D) ����M���������C���� 

 

40. ���Q�����������
��)��
����������(����(����
��.��(���	������ ������#��������
�����
�+,������*������ 

 (A) .������������N������5���+�������7����������"�.� (B) ��.���������� 

 (C) ��)����)��������:��/�� (D) (��:6H��������(����(��
�����(�����������"�.�� 
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41. The promotional tool which is useful during the decline stage of product life cycle is 

 (A) Advertising (B) Personal selling  

 (C) Public relation (D) Sales promotion 

 

42. The most important factor in selecting advertising media is 

 (A) Media cost 

 (B) Media preference of target audience 

 (C) Nature of the product 

 (D) Type of message 

 

43. The most common form of organizing  the marketing department is based on 

 (A) Customer (B) Functions  

 (C) Geography (D) Product 

 

44. The time elapsed between two successive outputs from a process that is continuously 

operating in a given period of time is known as  

 (A) Throughput Time 

 (B) Cycle time 

 (C) Lead time 

 (D) Bottle neck removal time 

 

45. The collective set of tools and techniques used to develop a quality assurance system 

when business processes show variations, is known as  

 (A) Quality Assurance Process 

 (B) Quality Management System  

 (C) Statistical Quality Control 

 (D) Statistical Process Control 

 

46. A firm’s demand for an item of raw material this year was 1000 units. The price of the 

item will be double the next year. All other information, will remain unchanged. What 

will be new EOQ ? 

 (A) 500 units (B) 707 units 

 (C) 2000 units (D) None of the above 
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41. ���!��������� ����!��������� ��������.��M�� �#�(����6�� .�(�/�� 
��� ����"�.�� #��������%� ����� ������ �
��M��� 
�I,���������� ���2�������� ���� ������
���*�!����������#���4 

 (A) ���Q������ (B) ����9��#��������M���� 

 (C) ������
������ (D) ����M���������C���� 

 

42. ���Q������@
��)��
������.��������
�����
�����
���?����&/������(�������� 

 (A) �������.��(��
��)��
������
�&�����

 (B) ��R���[���������������������.��(��������(��������� 

 (C)  ����!���������*����f����A������

 (D) ���!���������������(�� 

 

43. �����/�������*��#����������#��N������(����������������)������������
������OP������
�����(����)���(��������- 

 (A) #������� (B) �������� 

 (C) *�&#������ (D)  ����!� 

 

44. �!�����#�������
����
������������������2���������0������M���������!�����M��
������\�6����6������
��.��������
��������������������� 

 (A) 8�m&���6����
��� (B) .��M����
���� 

 (C) ���+����
���� (D) 
���6�����������(�
�&�������
��� 

 

45. �������(�� �����M������������d��(��� ����*��������!�����2�������� ��(�%� #��/���?�������������� ���/������ �������������(��������� ���2� ����(�/����
���(���������������������
�&��������
��..���� ������#���������������������������9����������������4 

 (A) #��/���?�������������������M������

 (B) #��/���?������
��)�������/������� 

 (C) �����$��������#��/���?���������	�/���

 (D) �����$�������������M�����������	�/�� 

 

46. ��..���
���������2���
�!���������2�������:���1�
�������
��"#��g===���������������8��%��#�������:���
�!���������
����!��#����������#�����
��������(�����&.���������(���'�����(��������������������S���S9��&S�9��������#���4 

 (A) n==���������" (B) c=c���������"� 

 (C) <%===���������"� (D)  ������9���
������������������L� 
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47. Consider the following statements : 

 1. A redundant constraint in an LP problem results in an infeasible solution. 

 2. A degenerate solution is totally meaningless to a manager. 

 3. The EOQ model of inventory management can be applied for determining the 

optimal production lot size. 

 4. LP technique can not be used for finding the scope for increasing the price, without 

disturbing the optimal product mix. 

 Codes : 

 (A) Only statements 1 and 3 are true. 

 (B) Only statement 3 is true. 

 (C) Only statements 1 and 2 are true. 

 (D) None of the statements is true. 

 

48. Consider the following statements : 

 1. A transport problem is said to be a balanced problem if the number of origins and 

destination is equal. 

 2. Dual theory of simplex method of LP can be used to solve a game theory problem. 

 3. CPM is often referred to as time-cost trade-off. 

 4. Time is not the only variable in PERT. 

 5. In a single-channel queuing models, if µ = λ, infinite queue will build up. 

 Indicate the correct code : 

 (A) Statements 2, 3 and 4 are true, other are not. 

 (B) Statements 2, 3 and 5 are true, other are not. 

 (C) Statements 1, 2 and 3 are true, other are not. 

 (D) All the statements are false. 

 

49. If, on an average, ‘A’ completes 40 tasks with a standard deviation of 5, ‘B’ completes 

160 tasks with a standard deviation of 15 and ‘C’ completes 120 tasks with a standard 

deviation of 8, their order when arranged on the basis of consistency is   

 (A) C, A and B (B) A, B and C 

 (C) C, B and A (D) B, A and C 

 

50. Which of the following is correct to compute the value of coefficient of determination 

under simple regression model ? 

 (A) r2 = 
a Σy + b Σxy – n 

–
y2

 Σ y2 – n 
–
y2

 (B) r2 = 
a Σy + b Σxy + n 

–
y2

 Σ y2 + n 
–
y2

  

 (C) r2 = 
a Σy – b Σxy – n 

–
y2

 Σ y2 – n 
–
y2

  (D) r2 = 
a Σy – b Σxy + n 

–
y2

 Σ y2 + n 
–
y2
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47. ���
������$������8��������(�����.��(��������2�-�

� gS� op���
������
������������������(���)���������(�/��
������)���������������������������

� <S� ���*��:6����������
��)�����������2���&/����0�����8�����������������������

� XS� �:6���
�� ����!����2��
�����������(�����)����(������(������������2������6H������
��)��������qrs�
��W+���������������9��������������
���������������

� aS� �:6���
�� ����!�� �
�[������������ ������� ���2� 
�#��(�����
�������� 
�������(��������� #����������Q�������(����� ���� ���2�op�
�������������� ������#������L���������������������������

� �������� 

 (A) ����������8����g����(��X��������������

 (B) ����������8����X�������������� 

 (C) ����������8����g����(��<���������������

 (D) �������*�����8��������������L������� 

 

48. ���
������$������8��������(�����.��(����(���-�

� gS� ���!����(�
*���8��������(��#���������������$����
�(��
�(������%���������(����������
�������������������������
���������������������

� <S� op�����G�������9�����C���������d��������C�����������#��
���8�����(�����
����������������������2� ������#����������������������������

� XS� ���S���S2
�S������������-���
���@���#������������@���#������������������������

� aS� ��6���5pqtu7�
�����
��������2���
��	��.�(������L��������

� nS� 2�����9���������������9����(�/��
��W+����
��%����!��µ = λ����%�����������������9������'
������������2#�������

� ����������+��
�����2�- 

 (A) ��8����<%�X����(��a����������%����������L��

 (B) ��8����<%�X����(��n����������%����������L�� 

 (C) ��8����g%�<����(��X����������%����������L���

 (D) ��*�����8����������������� 

 

49. ���!�����������0�%�‘A’�a=����
��n�����
����������.�������������8����&(�����(��������%�‘B’�gn�����
����������.�������������8��gY=�
���
����&(�����(������������(��‘C’�>�����
����������.�������������8��g<=����
����&(�����(��������%����#�����5����2��OP�����7�������)��(��
��(�� ������������8����(�������(�� �������M�
������#���- 

 (A) C, A ���(��B (B) A, B ���(��C  

 (C) C, B ���(��A  (D) B, A ���(��C 

 

50. ��(������
��[���/��
��W+������������#��������)���(�/��#��/����������
�&�����������(����������(������������2����
���
����������������������������4 

 (A) r2 = 
a Σy + b Σxy – n 

–
y2

 Σ y2 – n 
–
y2

 (B) r2 = 
a Σy + b Σxy + n 

–
y2

 Σ y2 + n 
–
y2

  

 (C) r2 = 
a Σy – b Σxy – n 

–
y2

 Σ y2 – n 
–
y2

  (D) r2 = 
a Σy – b Σxy + n 

–
y2

 Σ y2 + n 
–
y2
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51. Which of the following is not a characteristic of normal probability distribution ? 

 (A) The curve has a single peak. 

 (B) The mean, median and mode lie at the centre of the normal curve. 

 (C) The two tails of the normal probability distribution never touch the horizontal axis. 

 (D) It is a distribution of discrete random variable. 

 

52. Which of the following Online Analytical Processing (OLAP) functions refers to the 

process to choose the dimensions of analysis to suit the analyst’s viewpoints ? 

 (A) Clustering  (B) Drilling 

 (C) Scattering (D) Slicing and Dicing 

 

53. Which of the following is not a Microprocessor ? 

 (A) 8080 (B) 68020 

 (C) Pentium Core Duo 8600 (D) 2020 

 

54. The Grand stragtegy matrix is a powerful tool for formulating alternative strategies. In this 

model, all strategies are grouped into four quadrants. The dimensions of this matrix are  

 (A) Market growth and market share of the firm 

 (B) Market growth and life cycle of the firm 

 (C) Market growth and competitive position of the firm 

 (D) Market growth and industry forecast 

 

55. Which of the following activities is not involved in ‘Vertical Disintegration’ ? 

 (i) Segregation of value-chain activities 

 (ii) Re-organisation of value-chain activities 

 (iii) Outsourcing 

 Codes : 

 (A) (i) and (ii) (B) (i) and (iii) 

 (C) (ii) and (iii) (D) All the three 

 

56. Which among the following corporate governance theories make pessimistic assumptions 

about the self servicing motives of company executives ? 

 (A) Agency theory 

 (B) Stack-holder theory 

 (C) Stewardship theory 

 (D) Resource Dependence theory 
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51. ���
������$����
������������������������:��������
�������������������
��6��������������:���������L�����4 

 (A) ���M������2�����.���6���5�������:��7��������

 (B) 
��)��%�
���)���������(��
������������
���������M����������;����(����8������������������� 

 (C) ���
�������������������
��6��������!�������EF�������(���R���������R���������*��������������L���(�������������

 (D) ����������������i��.EF���.�(������
��6���������� 

 

52. �������������W����������������:�/���
���������M�����������������������:��������i��:6�����/�������������(���������:�/�������������(�������.��������
�������!�*���
��� �.��������4 

 (A) 9���6�G(�#� (B) �+H�G��#�� 

 (C) ����6�G(�#�� (D) ������G��#�����(��+��W��G��#� 

 

53. ���
������$����
�������9����‘
����M�������������(�’�����L�����4 

 (A) 8080 (B) 68020� 
 (C) ����6���
������(��+&�����8600� (D) 2020 

 

54. ��������������&	��OP��� 
���‘#����+�� �6H��6������ 
���6H�9��’�2�������9����&/��� 
��)��
���������������!�*��� 
�����*��� ����9�����"�.��(��.�(�/���� 
���
���*�������������������
���6H�9������������
������- 

 (A) 
�����(��������A�C�����(��1�
�������
���v�6�������(���

 (B) 
�����(��������A�C�����(��1�
���������������.��M��� 

 (C) 
�����(��������A�C�����(��1�
����������������)����
������8������

 (D) 
�����(��������A�C�����(�� e��#������*����:�����/�� 

 

55. ���
���
������������������#��������)��\�)����)�(�����B�6���������M�����
�������
��������L�����4�

� 5T7� 
�&���@w�A�$�����#��������)�������������*�9�����(�/��

� 5TT7� 
�&���@w�A�$�����#��������)���������������#��N����

� 5TTT7� 
����(���������������(��������5�� 6�����x��#�7�

� ���������

 (A) (i) ���(��(ii) (B) (i) ���(��(iii)  

 (C) (ii) ���(��(iii)  (D)  ��(���9�����*��� 

 

56. ���
������$����5���W(�����(��6��#�����K��7����#�
��������	�/�����C��������
���������������������C��������
��������)�����(�������������������������8���
�����(���� Z������������
��(���
������(��������!������(����������������������(���������4 

 (A) 2�����������C�������

 (B) ��/�)��(������C������ 

 (C) ���(�.��(�����������C������5�6�����+���������8�����(��7��

 (D) ������)�������*��(��������C����� 
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57. “Mature Industries tend to go out of own country and into low-cost assembly locations.” 

Which of the following theory/model explain this ? 

 (A) Adam Smith’s theory of absolute advantage 

 (B) Porter’s diamond model 

 (C) Raymond Vermon’s international product lifecycle theory 

 (D) Heckscher-Ohlin theory of international trade 

 

58. Which of the following is not a subsidiary body of General council of WTO ? 

 (A) Council for trade in goods 

 (B) Council for trade-related aspects of intellectual property rights 

 (C) Council for trade in services 

 (D) Council for settlement of disputes 

 

59. Which of the following is not a misconception about entrepreneurship ? 

 (A) ‘Successful entrepreneurship needs only a great idea.’ 

 (B) ‘Entrepreneurship is an easy task.’ 

 (C) ‘Entrepreneurship is found only in small business.’ 

 (D) ‘Entrepreneurial ventures and small business are two different things.’ 

 

60. Pichot suggested three roles for the intrapreneur in promoting innovation.  

 Indicate the correct answer. 

 (A) Inventor, innovator and sponsor 

 (B) Inventor, product champion and sponsor 

 (C) Team builder, information source and advocate 

 (D) Mould breaker, change agent and sponsor 

 

61. In which type of entrepreneurship formal structural ties are loosened and champions are 

given the freedom to pursue opportunities both for the organization and through market ? 

 (A) Administrative (B) Acquisitive 

 (C) Opportunistic  (D) Incubative 

 

62. The small scale sector is the __________ largest employer of human resources in the 

country. 

 (A) Single (B) Second 

 (C) Third (D) Fourth  
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57. ‘��
�����#�����������(�/�����(���9��� e��#���������������!���������
����(�������������J�������’ �������8���������@������8����(��f
��W+����
d��(�����
�J������#���������4��.��y�������(���- 

 (A) 2+�
����
�8������‘��&/������*�’��������C�������

 (B) ����6��(������+����
�/+��
��W+����� 

 (C) (��
�/+����
�������������(���:6H����� ����!�������������@.��M��8����(�������

 (D) ���9��(���������������������(���:6H�������������������C������ 

 

58. ���
������$����
��������������+�
���&S6��S���S���������(������� �������������������������8�������L�����4 

 (A) ��� �������1��W(��6H��+������#��+0����

 (B) ��� �������1��W(��6H��+�@�(����6��+���������960������W1����6����9��&.�����������6�V�(���60���� 

 (C) ��� �������1��W(��6H��+��������'�������

 (D) ��� �������1��W(�����6���
���6����W1���+������&60��� 

 

59.  e�
���������
��(���
��������������)��(�/�������������L�����4 

 (A) ‘��1���� e�
������������2���������
����������.��(����������������������’����

 (B) ‘ e�
�����2���������������������’��� 

 (C) ‘ e�
��������1�����B��������������
�������!��$�����������
����������’����

 (D) ‘ e
������������������������(����B��������������!�����*�����.���������’�� 

 

60. �������6�����������.��(�������������
���‘��6H�����������(�’��������2�������*�&�
����2"�
������������������� ?�(��
�����2��� 

 (A) �����:���(���%��������������������(����������������

 (B) �����:���(���%� ����!��.���
����������(��������������� 

 (C) 6��
�����
������%���&.����@3���������(����R����
�8������

 (D) ���".��@*��#���?����5
����+��
�M���(�7%����(��������@2����6�����(�������������� 

 

61. ������������(������ e�
�����
��%������.���(�������(�.�����
����
��)����I,��������(���!�2���������������(�������������������������#�N�����������2�
��8���
�����(�����������(����������(��������������(�/����(���������������	�����!��������������4 

 (A) �������������� (B) ������������� 

 (C) �����(����!��� (D) ������������� 

 

62. EF��6������
����������R��	��!�����
���
�������������)����������DDDDD�
�+,����������9��������� 

 (A) 2���� (B) !&���(��� 

 (C) �����(��� (D) .���8�� 
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63. Which of the following is not a promotional measure undertaken by the central 

government to promote small enterprises ? 

 (A) Supply of machinery on hire-purchase terms 

 (B) Technical consultancy and financial assistance 

 (C) Land available at cheaper rates for setting up a unit 

 (D) Assistance for domestic marketing as well as export 

 

64. At which stage of ethical consciousness, there is a shift in focus from ‘business’ to ‘ethics’ ? 

 (A) Corporate social responsibility  

 (B) Long-term profit maximisation 

 (C) Stakeholders concept 

 (D) Short term profit maximisation 

 

65. Statement I : Corporate values seek to ensure a consistency of conduct across the 

entire organisation. 

 Statement II : Corporate values directly relate to organisation’s risk management 

strategies and support reputation and credibility. 

 Codes : 

 (A) (I) and (II) both are incorrect. 

 (B) (I) and (II) both are correct. 

 (C) (I) is incorrect and (II) is a correct statement in isolation. 

 (D) (I) is correct, but (II) is not the right explanation of (I). 

 

66. Which of the following is related to the recycling of waste and paper undertaken by an 

organization ? 

 (A) Corporate policy towards sustainability 

 (B) Corporate governance of an organisation  

 (C) Social responsibility of an organisation 

  (D) Corporate values of an organisation 

 

67. The financial institutions have a major say in which of the following corporate governance 

model ? 

 (A) Japanese model (B) Anglo-American model 

 (C) German model (D) Indian model 

 

68. The four types of social responsibility include : 

 (A) Legal, Philanthropic, Economic and Ethical 

 (B) Ethical, Moral, Social and Economic 

 (C) Philanthropic, Justice, Economic and Ethical 

 (D) Legal, Moral, Ethical and Economic  
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63. ��B��� e
���������
�I,������!�������������2�����;�������(����(��d��(������2�#�2������)�������(��� ��������
������
������$����
������������������
����
��������L�����4� 

 (A) ���(�����@�M���������K���(��
������(�����������&'�����(�������

 (B) �������������(��
��������(�����?�������������������!�������(������ 

 (C) ��������8����������(������������2��������!�(����(��*�&�
�� ����
)����(�������

 (D) B�(����&������/������8��������������������2���������������!�������(������� 

 

64. ���������.�����������������������8�����(�%�‘����������’�����‘���������.��(�’�������(�1��1��������
���
�!�����������������4 

 (A) ���W���v(��6�����
�����������

��!��(����

 (B) !��B��������������*����)�����
����(�/�� 

 (C) ��/��)���(�������������)��(�/����

 (D) ����������������*����)�����
����(�/� 

 

65. ����������� �"���� ���W���v(��6��
�&������
��������#�N����
�����.��(���������#���������������.������(���������.��:6�����(������������

� ����������� ��"�������W���v(��6��
�&�������#�N�������������$�
�����
��)�����������
��(����������������������)�����

���)�������������������(�����'���
��8��������������������
����������������(����������� 

 ���&��� 

 (A) (I) ���(��(II) !��������#�������������

 (B) (I) ���(��(II)�!�������������������� 

 (C) (I) #�������������(��(II)����#��������������8�����������

 (D) (I) ���������%���(������(II), (I)���������������$��������L������� 

 

66. ���#�N����d��(������2���������������������:����!��8��K���8������#�������������.���M����(�/���������8�����
������$��������9������

���)��������4 

 (A) )��(�/����������������������W(�����(��6�������� (B) ���#�N�����������W���v(��6���������� 

 (C) ���#�N�����������
�����������

��!��(���� (D) ���#�N�����������W���v(��6��
�&���� 

 

67. ���������W���v(��6����������
��W+����
������?���������8����������
�����
�������
�����������������4 

 (A) ����������
��W+��� (B) 2�#����@�
���(������
��W+����� 

 (C) ��
�����
��W+����� (D) *��(�������
��W+��� 

 

68. .��(��������(���������
�����������

��!���(������
�����
�����:6������ 

 (A) �����&���%���������������(��%���'8�������(����.�(�/�����
��)���

 (B) ��.�(�/����

��)��%���������%����
�����������(����'8���� 

 (C) ��������������(��%�������%���'8������8�����.�(�/�����
��)����

 (D) �����&���%���������%���.�(�/�����
��)������(����'8���� 
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69. From the following statements relating to WTO agreements, choose the statements that 

are correct : 

 Statement I : Diversity in technical regulations and industrial standards among 

countries leads to the introduction of TBT (Technical Barriers to trade) 

Agreements. 

 Statement II : The aim of WTO agreements on customs valuation is to ensure a fair, 

uniform and neutral system for the valuation of goods for customs 

purposes. 

 Statement III : The agreement on Trade Related Investment Measures (TRIMs) applies 

only to measures that affect trade in goods. 

 Codes : 

 (A) Statements I and II only are correct. 

 (B) Only statement I is correct. 

 (C) Only statements II and III are correct. 

 (D) All the statements are correct. 

 

70. If the spot rate of US dollar is � 60 and one mouth forward rate is � 62, the forward rate 

premium (p) will be  

 (A) 40% (B) (–)40% 

 (C) 33% (D) (–)33% 

 

71. For which of the following sectors, the FDI cap/equity is 100% ? 

 i. Mining including exploration and mining of diamonds. 

 ii. Defence production 

 iii. Drugs and pharmaceuticals 

 iv. Insurance 

 v. Banking 

 vi. Power (except atomic energy) 

 Codes : 

 (A) i, iii, iv and vi (B) i, iii, iv and v 

 (C) i, ii and vi (D) i, iii and vi 

 

72. As per the Foreign Trade (Development and Regulation) Act, 1992, who advises the 

Central Government in the formulation of Export and Import Policy ? 

 (A) Chief controller of Imports and Exports 

 (B) Director General of Foreign Trade 

 (C) Director General of Commercial Intelligence 

 (D) Chief Controller of Foreign Trade 
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69. ‘+�
���&S6��S���S’�����)���������
���)������������8���������.�����2�-�

� �������– I :�� !������� 
��� ����������� �����
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���6��
����,���7�56��S��(�S����S2
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�������������
����������������2��������#�������������%�������������(���������(���������
�������(����+,������������ 

 ���&��� 

 (A) ����������8����I����(��II�������������

 (B) ����������8����I������������ 

 (C) ����������8����II����(��III�������������

 (D) ��*�����8��������������� 

 

70. �#�(�� ��������������
���� 
��� ��&S2��S�+��W��(������
�&����� 60��������(���#����� 
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���
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 (A) 40% (B) (–)40% 

 (C) 33%  (D) (–)33% 

 

71. ���
������$����
����������������96�(��
�������@�����������21�S+��S����S���������
���������4 

 i. $����������)�������:�/�����(�����(��������$��!�����

 ii. ���(�R��� ����!�� 

 iii. !��������(�����:�)������

 iv. 
��
���5�������(�����7�

 v. 
��G��#���

 vi. ���9���5���W��(�7�5��(�
��/������9��������������7�

� ���&����

 (A) i, iii, iv ���(��vi (B) i, iii, iv ���(��v  

 (C) i, ii ���(��vi  (D) i, iii ���(��vi 
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73. According to Eclectic theory of Foreign Direct Investment (FDI), the motivation behind 

FDI is/are 

 (A) Capital and labour adequacy 

 (B) Raw material and labour adequacy 

 (C) Ownership, location and internalisation 

 (D) Labour, capital market and internalisation 

 

74. The following statements are related to patents. Using code indicate the statements that are 

not correct : 

 Statement I : Patent is aimed to encourage economic and technological development. 

 Statement II : Patent can be protected only for a limited period. 

 Statement III : The law of patent is international in its operation. 

 Statement IV : When the patent right expire, the technology becomes public property.  

 Codes : 

 (A) Statements II, III and IV are not correct. 

 (B) Statements II and IV are not correct. 

 (C) Statement III is not correct. 

 (D) Statement IV is not correct. 

 

75.  Which of the following statements are not correct in relation to pre-shipment credit in 

foreign currency ? 

 Statement I : It is a foreign currency loan available, both, to the importers and 

exporters. 

 Statement II : It is self liquidating in nature and can be liquidated by purchasing/ 

discounting of bills. 

 Statement III : Refinance from RBI is available to banks against pre-shipment credit in 

foreign currency. 

 Statement IV : The interest rare shall not exceed 1.75% above six months, LIBOR for 

the initial period of one month. 

 Codes : 

 (A) Statements I, II and III are not correct. 

 (B) Statements I, III and IV are not correct. 

 (C) Statement II  and IV are not correct 

 (D) Statement II and III are not correct. 

____________ 
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